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Second Fundamental Theorem
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Average Rate of Change: AROC= (slope between two points)
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Inst. Rate of Change: IROC= f'(c) (slope at a single point)

Mean Value Thm Part 1: f'(c) = M Rolles Thm.: if f{a) = fib), then £{c) =0
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Intermediate Value Thm. A function f{x) that is continuous on [a., .’J] takes on every y-value between
f(a) and £ (b).

Extreme Value Thm: If fix} is continuous on [a._,b]~ then f{x) must have both an absolute min and absolute

max on the interval [mb].
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{works well for factorials and exponentials)

, , a series with terms smaller than a known convergent series also converges
Direct Comparison : ; i ; :
a series with terms larger than a known divergent series also diverges

if lim—" is finite and positive both series converge or both diverge
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(use with "messy" algebraic series, usually compared to a p-series)




